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QUESTION 1

Examine these statements from a block of code: Which two are true? (Choose two.)

CURSOR c¢i1 IS
SELECT * FROM products
FOR UPDATE OF price;

UPDATE products
SET price = price * 1.05
WHERE CURRENT OF c1;

A. The lock acquired when executing the OPEN c1 command will be released only after a COMMIT or ROLLBACK
statement is issued.

B. Only the PRICE column can be updated in the PRODUCTS table.

C. The FOR UPDATE OF clause can be used only if the WHERE CURRENT OF clause is used in the executable part
of the block.

D. The WHERE CURRENT OF clause can be used only if the FOR UPDATE clause is used in the cursor definition.
E. An OPEN c1 command will acquire a lock only on the PRICE column in the PRODUCTS table.

Correct Answer: AD

QUESTION 2

Examine these statements which execute successfully:

CREATE TABLE t (a INT, b INT, ¢ INT INVISIELE);
INSERT INTO t (a, b, c) VALUES (1, 2, 3);
COMMIT;

Which anonymous block executes successfully?
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A.
DECLARE
t_rec t®ROWTYPE;
BEGIN
t_rec.c := t_rec.a;
SELECT * INTO t_rec FROM t WHERE ROWNUM < 2;
DBMS_OUTPUT.PUT_LINE('c = * || t_rec.c);
END;
B.
DECLARE
t_rec tXROWTYPE;
BEGIN

t_rec.a := t_rec.b;

SELECT * INTO t_rec FROM t WHERE ROVNUM < 2;
DBMS_OUTPUT.PUT_LIME('a = * || t_rec.a);
END;
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DECLARE
t_rec tRROMTYPE;
BEGIN
t_rec.b := t_rec.c;
SELECT * INTO t_rec FROM t WHERE ROWNUM < 2;
DBMS_OUTPUT.PUT_LINE('b = ' || t_rec.b);
END;
D.
DECLARE
t_rec tEROWTYPE;
BEGIN
t_rec.c := NULL;
SELECT * INTO t_rec FROM t WHERE ROWNUM < 2;
DBMS_OUTPUT.PUT_LINE{'c = ' || t_rec.c);
END;
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 3
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Which two are true about lexical units? (Choose two.)

A. Character literals are case-sensitive.

B. Spaces can be embedded in delimiters.

C. Identifiers include labels.

D. A character literal with zero characters has the BOOLEAN value NULL.
E. All user-defined identifiers must start with an alphabet.

Correct Answer: AE

QUESTION 4

Which statement is true about user-defined records?

A. They can be returned from a function.

B. Field types must match column types.

C. The number of fields must match the number of columns in a table.
D. Field names must match selected column names.

Correct Answer: C

QUESTION 5

Which three are true about the procedure overloading feature? (Choose three.)

A. Each procedure can be a nested subprogram.

B. Each procedure\\'s formal parameters can differ in data type or name.

C. Each procedure must use named notation to specify the corresponding actual parameters.
D. Each procedure\\'s formal parameters must differ in name.

E. Each procedure can be a packaged subprogram.

F. Each procedure must use positional notation to specify the corresponding actual parameters.
G. Each procedure can be a standalone subprogram.

Correct Answer: BEF
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